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Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A.
Part B consists of 5 Units. Answer any one full question from each unit. Each
question carries 10 marks and may have a, b, ¢ as sub questions
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b)  Obtain the piecewise linear interpolating polynomials for the function f(x) given that
f(1)=2,1(2) =4, f(3) =8, {(4) = 16 and 1(7) = 128. [5]
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¢}, -Prove that 51.,!-#:2:52 2(1 +%§2)
d) Derive a formula to find ? by numerical method. (5]
X

e)  Apply Euler’s method to solve y'=x+y* y0)=1 choosing the step length h= 0.2.
Find y(0.2), y(0.4), y(0.6). I8
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2. Use Householder’s method to transform the given matrix to tridiagonal matrix. [10]

OR
3. Solve the system of equations using Gauss seidal method [10]
Ty :":.9x + 2y + 42:20 N R T I
FLELX + 10y + 475 G HEE O HOME e
2x —4y + 10 z= -15

4. Find f(84), from the following data [10]
x40 | 50 | 60 | 70 | 80 | 90
y | 184:1304 | 226 | 256276 | 304

OR
5. Find the polynomial f(x) satisfied by the points (0, 1), (1, 3), 2, 7), (3, 13) using
Newton’s forward interpolation formula. [10]



6. Use Gauss Backward interpolation formula to. find tan 50°42’ given that. (10]
— - 50... |.. 51 52...] 53 12 I
£ Hlian x | 1.1948 $7.2349 | 1.2999:11.327 | 1.39841].
OR
% Compute y'(x)at x =0 for y =e*  using Richardson’s extrapolation. [10]
8.i" Ll Evaluate I Té"‘* ‘Vidxdy, takmg Wik = 0.5 by Trapezmdal rulei* 110]
OR
o. Evaluate d.x by d1v1d1ng the range of mtegrat10n into 4 equal parts usmg
”a) Trapezmdal rule b) Slmpsons—;: rd rule. o 7 o [“1”0]
10. Find y(0. 1) and y(0.2) glven that %~xy+ y° and y(0) = 1 using Taylor’s series
. inethod, P i S85 i)
OR
11. Find the values of ¥(0.25),y(0.5) and y(0.75) by finite difference method, given that
y'=4y=38, y(0)=0and y(1) = 0. [10]
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